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Name: ________________________________ Date: ___________________ Period: _______

Warm-up #1 

Summarize the passage:

On Sunday, the Denver Broncos defeated the Carolina Panthers in Super Bowl 50 by a score of 24–10. The game, played at Levi's Stadium in Santa Clara, California in front of 71,088 spectators, marked the Broncos' third Super Bowl victory and their first since 1999. Entering the game, the Panthers had lost only once in the 2015 NFL season, while the Broncos won 12 of their 16 games.
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________.

Warm-up #2

Cause and Effect.  Write your answer in one complete sentence. 

1.  What was one effect of the Super Bowl game? 
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________.

Warm-up #3 

Make an inference and provide your evidence.  

1.  Make an inference.  How do you think the Bronco’s felt after the Super Bowl?  What is your evidence?  “I infer… My evidence is…”

___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________.

Warm-up #4	

Summarize the following passage: 

A magnitude 6.4 earthquake hit southern Taiwan around 4:00am today local time (2000 yesterday UTC) southeast of Tainan, a city with about two million people, according to the United States Geological Survey (USGS). By various reports, as many as thirteen or fourteen people may have died, more than 100 may be missing, and Associated Press put the injured at well over 400.  The seism was reported by the USGS initially with a magnitude of 6.7. Several buildings collapsed in Tainan including a 17-story residential building. Emergency services said they had rescued over 200 people, many of whom were hospitalized. At least five aftershocks are reported.
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________.

Warm-up #5

Cause and Effect 

1.  What were two effects of the earthquake?  Write in complete sentences.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________. 

Warm-up #6	

Make an inference:  How do you think the people felt who were in the earthquake?  “I infer…My evidence is….” 
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________. 

Warm-up #7

Summarize the passage:

Once people had wheels they could invent other ways to travel. They could put the wheel on a board and make it a wagon, and then they could hitch that wagon to an ox or a horse and ride as well as carry materials. That wheel led to what we have today: trucks, automobiles, and even boats and planes. It even was part of boats. There were steamboats that used giant wheels that turned with blades, pushing the water and pushing the boat forward. 
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________.



Warm-up #8

Cause and Effect 

1.  What were two effects of the invention of the wheel?  Write in complete sentences.
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________. 

Warm-up #9	

Ask an inferential question about one of the passages you summarized this unit. 
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________.
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